CHAPTER:- 2 ADDITION CLASS 5
ASSIGNMENT 6

(To be done in the maths copy)
1)Arrange in columns and add:-
a) 88,28,57,496 ; 4,15,29,517 and 59,38,256
Example:- 8 8 2 8 57 4 9 6
41529517
+ 5938256

93032528629

b) 7,55,49,156 ; 8,44,25,313 and 7,63,35,183
c) 82,47,635 ; 1,44,01,231 and 4,13,67,215
d) 44,36,346 ; 6,71,00,672 and 22,21,41,712
e) 22,19,57,282 ; 9,58,79,799 and 26,25,78,916
f) 7,05,36,262 ; 2,71,90,388 and 38,46,712
2) Replace with an appropriate digit:-

a) 6 1 5 4 8

4 2 7 6 9
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3) Mr. Verma bought a second hand car for %4,56,395 and
spent 45,968 on repairing and X18,966 on painting it.
How much money did he spend in all?

4) In a state there are 19,15,67,893 men, 16,73,99,489
women and 14,00,98,509 children. Find the total
population of the state.

5) The sales tax office collected X35,24,97,681 in the year
2018 and X29,86,39,485 in the year 2019 . Find the total
tax collected by the office in these two years.



